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[This question paper contains 6 prmted pages.] -
4377 . . : o Your Roll No. ..............
BFIA /11 Sem. - 2011

. BACHELOR OF FIl NANCIAL AND INVESTMENT ANALYSIS
Paper.202 (NS)
i (Cost and Management Accmmting)
sze 3 hours Maximum Marks : 75
(erfe your RoH No on rhe rop :mmea’rare!y on rccezp! of this question paper.)

Artempt all quesnr)ns
Questlon 1

Quallty Ltd manufactures and sells a product, the seliing pnce and raw materlal cost of which have
remalned unchanged durlng the past two years. The following are the relevant data:

: o Year1 i yearz
3 _‘Ql-_.l:ajr‘ntllty-sbllc.i_(kgs‘.) S S 100 \ iy e ‘. 150
Salesvatue e i e b 20,000 . o
: Rawmateﬂals : e | io.:ooo o i ‘:““-? .
| Dfre;twages g . ' l3000 o ¢ ? " :
Factoryoverhéads e R 5000 i : o : '175"700 RSl '
Proﬂt 4 '. Fan it '2000 it g 2550

During the year 2 direct wages rates lncreased by 50% but there was a saving of Rs 300 in F xed
overheads : N - : :

| Requlred

What quantlty (in kgs ) the company should have produoed and sold In year 2 ln order to malntafn
the sarne amount of net proﬂt per kg. as it earned last year 1? e _ (3 marks)

Questlon 2

" The cost accountant of a manufacturing company provides you the fouowlng detalls for the year

.2010, . ;
Dlrect materials - ' Rs. 1,75,00(_}
. Direct wages i 1,00,000
Variable factory overheads 1,00,000
Fixed factory ouferheads 100,000
Other variable costs 80,000
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Other ﬂxed costs i {3- 80,000'
| Proﬂt Rl e © ' 1,15000
Sales- : .' : s 2 ; 750000

Durlng the year the company manufactured two products A and B, and the output and costs were:

:.‘ : o : ' i s .
Output (unlts) g '_ 2,00,000 : _r '1 00, ooo

Sell[ngprlceperunnr 5 ' s _ Rs. 2.00 : Rs. 350 ‘
.,D".EF"Mater'ia!s.perunlt | ‘ 050 " i o'.75;
Directwages per unh: ' . BN s 0.50

Var!ab[e factory overheads are absorhed as a percentage of dlrect wages and other variable costs e
have been computed as follows' 5 :

- During the year 2011 It Is expected that demand for product Awll fall by 25% and for B by 50%. It Is
decided to man 'facture a further product C, the costs, etc, for which estimates. are as fol!ows

','Productc
di et 2ooooo
Rs. 175

Rs 0.40 |

Dlrect Wages per unit

:RSOZS

It is anticipated that the other variahle costs per unit will be the same as for Product A.

’

Prepare a budget to present to the management showlng the current posltlon and for 2011,
Comment on the comparatlve results. ’:'. ‘ ,_ g (10 marks)

: QuestlonB : o : : = ‘ o _ 1

g} g . { . ) :
A product passes through three processes- A,B & C. The details of expenses Incurred on the three
processes durlng the year 2010 were as under

Process ' A . B c /

Units issued/introduced 10,000
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Cos't per unit 3
Sundry materials
Labour =

e Dlrect expenses Gt

: Selllng prlce per unit of output

. Management expenses durlng the year were Rs. 80,000 an

© . are not ailocable to processes

e T
o Actual output of the three processes was:

.\

Rs. 100
P.s. 10,1000
ik
6,000

HH

120

Rs. 15,000

80,000

18,150 .

165

w v v v v W

Rs. 5,000

- 65,000

27,200

250

d selling expenses were Rs. 50,000, These

A-9 300 unlts B- 5 400 and C- 2,100 units. Two- thlrds of the output of Process A and one~
half of the output of Process B was passed on to the next

The entlre output of Process C was sold.

Process A-S%‘ B-15% and C- 20%

§ per unr

':.-'r(a)_ The three Process Accounts A :
(b) Proﬂt and loss Account’

)

‘ A ‘:, Questlon 4

e Product R Rag OUtlet (Kgs) Sales G
AT se0m0 Rs. 1,15,000 -
T,E s B ;' ; : '_1o,000. . 10,000
T R 5,000 4000 |
D el 9,000 30,000
You are required to ; -
(i) Calculate the net Income for each of the products if the |

(c} Abnormal galn and abnormal loss account

Talpe Ltd ln the course of ref" nlng crude oll obtalns four Joln
the spllt-off polnt was Rs. 97 600. The output and sales inth

R mara AL vy

> _-L-.‘r'-_:“j e

the basis of sales value of different products.

it ,The normal loss of the three processes calculated on the Input of every processes was:

. (lb'marlts"}- o

process and the balance was sold.

‘ The Ioss of Process A was sold at Rs .e per unit that of B at Rs 5 per unit and of Process CatRs 10

tproducts A B C & D The total cost tIII
e year 2010 were as follows '

Separate Costs 5

Rs. 30,000

6,000 :

1,000

oint costs are apportioned on

i
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(i) What would be net incomie of the company from each product It It decides to sell the
product.s at spllt-off point itself @ A 15 palse; B 50 paise C 80 paise and D Rs. 3 per Kg?
(8 marks)

_‘Questlo‘nS J K

A company operates a standard cost!ng system and showed the followlng data for the month of
March 2011 i - ;

Ty S CActual - Budgeted
. No. ofworklng days e . B 22 20
Mar- hours e, 4300 . 4000 i
: Overhead rate per hour Gl g g doni - Rs.0.50 '
Hours per unlt of output i ites s A o
e leed overhead lncurred Hedgon ™. sesi
"VNo. c:i_kr unlqprMuced_ a5 R
,..(1) Overhead cost va'riance
: f--__ﬁ""(z) Budget variance ,
T Volume variance X
ol (4) pacltyvarlance
b (5) Caiehdarvadance Bl o
: (10 marks)

2 '.9{6) Efﬁdency varianoey

. ‘(a)The following Is Control Report prepared by 3 cost accountant of Department Xina factory

Overheads directly asslgned to Department Xe o s ’

_ St Rs. R
h Indirect r.naterl‘als (hased -oin actual requisitions) e 1,000
Indirect labour -(job tickets) : 900
Overtime charges" e 100
Depreciation on equipment ' 500
| — 2,5o0
Allocated factory overheads (38% of factory spaces) 4,300

Allocated overheads of repair shop



8377 2

; Allocated Ofﬂce and Admlnisrratlve Overheads {on an agreed basls)

k Total Peoartmenfel expenses

( 62% of repalrs ln repalr shoo done for Department X)

----""'v""

1,200

£ 5,000

_‘ | l', Revlse the report treatlng Department X asa Responslblllty Centre . . g g i

: G N (b) Dlstlngulsh between cost centrehnd responslblllty centre S0

.[Product cost and period cost
,,Dlrect cost and lndlrect cost.’

'Shut down cost
Belovant cost -

A cost driver |5' ¥

e Adivity

o Colsroness 1 r () Production scheduling
B S e () Despatching

(c) Goods receiving

(d) Inspection = =

'Cost control and cost reductlon :

(a) An ltem of productlon overheads e
(b) A common cost which Is shared over cost centres
4 (c) Any cost relatlng to transport
"(d) An activity that generate costs . -

' Whlch of the following Is not a correct match?

' l8 mérks)

L

_cost drlvers L '
Number of productlon runs
Number of despatch orders
Goods received order
Machine hours

{iii) Which of the following Is not a method of costing?

- (a) Marginal costing
(b) Absorption costing
(c) Standard costing
-(d) Multiple costing

(iv) - Which one of the following Is not service department?

(a) Stores
(b) Canteen

SN (5
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(c) Assembly
(d) Payroll
“(v) . The process of apportionment Is carried out sothat -

- (a) Costs may be controlled
o B (D) Cost units gather overheads as they pass through cost centres
s o) Whole Items of cost can be charged to cost centres
; ~ {(d) Common costs are shared among cost centres
o (Vi) <% The characteristics of process costing include:
Ty (a) Products : are standardised and homogeneous
i (b) Products are processed In one or more processes
3‘{ (c) "Products are dlstingulshable In processlng stage
b e = (d) All of the above AT R v
S, (vii) " Joint products PR S ol
s -ﬂ,"_:,",,‘. 7= (8) Are produced simuitaneousiy ;
< (b) Are more or less of equal Importance
" {c) May usually require further processrng
e o3t S (g ‘Al of the above . - ; : '
(i) - Which of the followlngs is not a relevant information In a make or buy’ decision?
aoy g (a)s Varlabie cost of making i) :
‘= - (b) General fixed cost % ,, E
4. (c) Purchase price: - e =
ok o3 (d) Loss of contrlbutlon to rnake the product :
52 Aflx) i Aflexible budget is: - 2 O S e
et (a) YA budget ofvariable production costs only L g el :
(b) A budget whlch Is updated wrth actuai costs and revenues as they occur during the
budget period ‘5 . i :
. (¢} Abudget which’ shows the costs and revenues at dlfferent levels of activity :
d)- A budget which ls prepared uslng a computer spreadsheet model, : o
g ,A'standard which can be attained under most favourabie working conditions is called

a) Ideal standard .’ B
i (b) Attainabiestandard Sai) i PRl T i
e Currentstandard - i PRSI e L
(d) Basicstandard LR T DR e (5‘”:131"‘5).\.

(100)****



